OCTOBER 2011 U/ID 46434/UCCD

Time : Three hours Maximum : 100 marks
PART A — (10 x 3 = 30 marks)
Answer any TEN questions.
All questions carry equal marks.

1. Define dual aspect concept.
@rleL Gewe Camlurl e allers@s.
2. What do you mean by “Suspense Account”? When it is prepared?

SMMDSSE  SavsE erarumg  edeufl?  eriCung oens  gwmm
Qelieumiaer?

3. Define Average Due Date. When it is prepared?

gyngml  pdliey BreT @M  eTanan?  eng  erGuTg  Hwimm
Qelieumiaer?

4. Give formula for calculation of interest in account current.

BLULS sansdler el lgenw sas&Sh Ceiw uwearu(b GsHrsamns

(umuiumenL) s mis.

5. State the important contents in Hire Purchase Agreement.
UTLa&E CaTeTpSe QUILIBSSSH 6 (PSS FTSSHIEHMET Fnm)s.

6. Define Investment Account. State two types of its preparation.

WO (H& saEms oHad@s. g swumt  Celuyd @i
(PEODEEN 6T Fafl) 5.

7.  State the merits of marginal costing.
S| 556Ul 6T HETENLOSEN 6T Sa.Mid.

8. Define Bincard. Give one difference between bincard and stores
ledger.

Ul gwd @lenl eramieng ellard@s. Uligwd L el &EGb Gul L s

CuCrL(H&E Wb 26t ¢ CeumumenL_ snmis.



10.

11.

12.

13.

14.

15.

16.

Define Break-even analysis.
F06% Y lienel 6leTs@s.

State the uses of ratio analysis.
5638 WINET LILIGTSET WITEneU?

What are the different profit sharing ratios available in
partnership business?

sl Lnamend  eNwnmumrsHer eSS  cuenSWTET  @eoml B
N EFBIGET 2_6TOTET CTETLINS Fo ).

Classify the budget according to time.

Crrsens SiqliuamLwng Csrar®h S LEms THSMET UMSHETTS
Gf&semb,

PART B — (5 x 6 = 30 marks)
Answer any FIVE questions.
All questions carry equal marks.

Explain errors not disclosed by Trial Balance.
@ L Blenavd @GNILILITeD SranT(Lplqwimg [Seppsaner 6Slams@s.
Explain the profitability ratios.
@eru alldlsmisamer allers@s.
Give various basis for apportionment of overheads.

Cudeuamré deweajsmer g6SH Cauyb CeustCoaum igliLienLsemer
Fa)5.

How will you rectify the following errors discovered before
preparation of the Trial Balance?

(a) Rs. 3,000 spent for repairs of building has been posted to
building account.

(b) A sale of Rs. 5,200 to Suresh has been entered in the Sales
Book as Rs. 2,500.

(¢) Goods worth Rs. 500 purchased from Vishwam have been
omitted to be recorded in the books.
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17.

18.

19.

Epsasa Gepsdr  Q@uybleows @Oluy  swurt  Qelieusnd
wpearunsGeu samphliig sl Leel. e SHmssb Cauiis.

(@) sligldms L@pg UMTEs dFwe] Cswug . 3,000amel sligl &
samsdled TS0 S (PSLILIL (HeTerg)

(=) &Crasgn lpumear Celig ep. 5200 ew elhuemer 6 iqed
ep. 2,500 erar udley CFwiul (HeTeng)

(@) eNeyeusdOmpg eurmgus ep. 500 wllerer CummeTEHeT
ghaafle erpsmoe el _LiLL(HeTeng).

A purchased goods from B, the due dates are as follows :

Rs. 600 due on January 1, 2004.

Rs. 500 due on February 6, 2004.

Rs. 400 due on March 16, 2004.

Rs. 300 due on April 25, 2004.

Rs. 200 due on May 25, 2004.

You are required to calculate the average due date.

< eramLeuT <, L LO(BhgI &S Seuament BT _sefled ClummeTgamern

AL g

ep. 600 seuenent BreT sameuil 1, 2004.

5. 500 seuenent praT LLiTeufl 6, 2004.

eh. 400 seuenewt prer s 16, 2004.

eh. 300 seuenewt mreT erliged 25, 2004.

eh. 200 geuenent prer Go 25, 2004.

syngtl (pHre| Brener Smews.

A and B were partners in a firm sharing profits in the ratio of

3 : 2. They admit C into partnership and the new ratio for

sharing profits will be 4 : 3 : 2. You are required to calculate the
sacrificing ratio.

< LEMD D @ FlLramenuld 3 2 eerp  ellssHed
@oruplLsms  USlihg  CemeTEpd sl LmeflEer.  DeUTEHeT
@ eremueueny gl L metlng Caiggisbarar et LS @eomu Bl
&g 4: 3 : 2. Junsd Qelg Nfgresnsans sramms.

From the following information calculate :

(a) Break even point.

(b) Forecast the profit for sales volume Rs. 50,000.
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20.

21.

22.

23.

Rs.

Fixed cost 13,000
Variable cost 15,000
Total cost 28,000
Net profit 2,000
Net sales 30,000

Epsaam eflurhiseafladmbg (=) soaisl yarafl (<) elhuemen ailena
ep. 50,000 erafler @avrusans (parCrms@ Cawis.

€.
Bleneowimen GlFaey 13,000
rmib ClFaey 15,000
Qrggss Cewe] 28,000
BlEr @eruid 2,000
&y 6L 30,000

PART C — (4 x 10 = 40 marks)
Answer any FOUR questions.
All questions carry equal marks.

Discuss the features of a good wage system.

Bebe) nedl (penmudler GaTElFLBIGamaT 66T Es.

Describe the important managerial uses of ratio analysis.

cllgrgany g uiafern (pasdlw Coemearrentd LILETSameT 66U FLoms damis.

Elucidate any four methods of calculation of depreciation.

CaWinrangens samad (HLbd BrerE, (penmasaer allifleurs gnms.

Patel commenced business on 1.7.2003 with a capital of
Rs. 20,000. During the year ended 30th June 2004, he borrowed
Rs. 5,000 from A and introduced further capital of Rs. 2,000.
Furniture worth Rs. 3,000 was purchased. He had drawn from
the business a sum of Rs. 3,000 during the year. On 30th June,
2004 the position was as follows :

Cash in hand Rs. 450; Cash at bank Rs. 2,500; Sundry debtors
Rs. 4,050; Stock Rs. 7,000; B/R Rs. 1,800; Sundry creditors
Rs. 750.

Furniture is to be depreciated by 10%. Ascertain the profit and
loss made by Patel during the year ended 30th June, 2004.
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24.

1.7.2003 <emmy ulCra ep. 20,000 epagansgiier eNwUmLTISmS
Qg TL_milerTr. 30.6.20046Latr PlgeImLWD < eTig e
< eramueflmBg p. 5,000 sLeamme CQupm en. 2,000aw g (BHisa
gpegarons CumLmi. ap. 3,000 wdlliLerer waneansgianent Olum(meTaer
QUTERISLILIL L g). <2{6L G TEHTIq 6D em. 3,000 SEIME) ENL_LLI
elwrurgsadlmbg erhssmT. 30.06.2004 ojamm 2jeument_ut Hlane.

asuimiy Qrrésd ep. 450, cumidluller Grresd ep. 2,500, upLe
sLamaflger ep. 4,050, #r6@ ep. 7,000, QupCeueirqws wrhmiEs (H
5. 1,800, upuiew sLatbCgm em. 750.

wevangglener Gummerger g 10 #s6igb Coulbrargms eHu B se]wb.
30.6.2004 2_L_éir (Lpiq UEnL LD 4,60TIq HSTE @IEMLI, BLL SN SHT6uTs.

A, B and C were partners sharing profits and losses in the ratio
of 3:2:1.0n 1.1.2004 they admitted D into partnership on the
following terms :

D to have 1/6 share which he purchased entirely from A, paying
Rs. 40,000 for that share of goodwill. Of this amount A was to
withdraw Rs. 30,000 and D to bring in proportionate capital. It
was further agreed that investments should be reduced to their
market value Rs. 18,000 and that plant should be reduced to
Rs. 29,000. A sum of Rs. 3,000 introduced in creditors was to be
written back as there was no liability to pay the amount.

The Balance Sheet on 31.12.2003 was as follows :

Liabilities Rs. Assets Rs.
Creditors 1,05,000 Cash at bank 40,000
Capital : Debtors 60,000

A 60,000 Stock 50,000

B 40,000 Investment at cost 30,000

C 20,000 Furniture 10,000

Plant 35,000
2,25,000 2,25,000

The profits for 2004 were Rs. 60,000 and the drawings were

Rs. 15,000 for A and B each and Rs. 7,500 for C and D each.
Prepare capital accounts.

S, 9, PN @, 3: 2 : 1 eern lflgsHer Qeoru, BULSag LSTHS)
Qamar@Epd sl Lmaflser.1.1.2004 ety  m salLmementoudied
gal_Lmeflwins Campbgmi. HlLbsamerser :
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25.

m @erupl L eisb 1/6 ukiEg Siws < erarueufLlghg GuDoTT.
. 40,000 pemodlliung Qarar@h eupbsmr. o ererueur ap. 30,000
ahlurs  ahsgsCETarLTT. F  eNfgrFEmrlilg  PLSRTSNS
9| Qararr(h UBSTT. APOSTD FHeng alenads@ G DaEILL L G| Sl
. 18,000. Qumdl ep. 29,0006@ GopssLiULLE, sSLaibCHTT
. 3,0008@ GernsslilLg).

@mlyblenavd @l 31.12.2003 e

QumrmliLger €. Qerggiser €.
sLatpGamm  1,05,000 Qurésid euridludied 40,000
EPESEILD FHL_GTeT &6 60,000
Y 60,000 &7&@s 50,000
<, 40,000 @pgad@hser (Hlar elamauier) 30,000
&\ 20,000 wenanggienant ClLImHETSHET 10,000
Qum 35,000
2,25,000 2,25,000

2004 <y, ey Hamer @aemuid ep. 60,000, < wHmID <, edler er(HLiLy
p. 15,000 geuGeummeume@b. @ womid Fufler eritiy em. 7,500
eelCeummelhE@LD. sal L raflsafler (pageans samsans SwTT OlFs.

Draw up a flexible budget for overhead expenses on the basis of
the following data and determine the overhead rates at 70%,
80% and 90% plant capacity.

At 80% capacity

Rs.

Variable overheads :

Indirect labour 12,000

Stores 4,000
Semi-variable overheads :

Power (30% Fixed) 20,000

Repairs (60% Fixed) 2,000
Fixed overheads :

Depreciation 11,000

Insurance 3,000

Salaries 10,000
Total overheads 62,000

Estimated direct labour hours : 1,24,000 hours.
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&Gy Qam®ssiul_(erer  elurhmseallad@mbgs  Qurluiear  Hpefle
70 #gaisid, 80 gsaisbd whmb 90 Fseisbd <igliLmLuld Guoadeiamny
Qeey Apdlpe) S sams swmt Qews.

80% Sperfled
€.

rmib Codeuemys CFwe|ser:
LOEOD (PSS Fn60) 12,000
FTLOTGIGGT 4,000
LGS wrmib Ceeiamrd tlFae ser :

e (30% bHleneowimeng)) 20,000

LpgILTTSS6 (60% Hlenevwimang) 2,000
Blenaowimen Codeuanrd Cgwe|sar :
CsWiomard 11,000
ESNINC 3,000
FLDLIGTLD 10,000
Q@rggD 62,000

U@ Crirlg 2 el weaefl Crrb 1,24,000 wewtl Griyib.
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